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1 Xogpunnipjwl nwu - 0,2; 0,5 Pwqwjht L wujwlwlywU hnuwlup, A-5.0 UnwdbjwagnyUu hnuwlp, A-7.5, 100

Uujwlwywl jwpned, V-3x220/380+£10% QUwhwwnywd gwlugh hwwphpiwwluncpjnil, €g -50.0 £5: Swugh (wpdwl
w2huwwnwlpwihbu vhpwluwyp, V - 50-hg 260 UphuwwnwlupwihU estpdwuwinhdwuh dhpwyw)p, °C - Uhuntu 40-hg wpyntu 70
Uywnhy EuGpghwjh uywnnudp (wpdwUu Jhwgnedned, 4w ng wybih, pwl -0,5 2gwjnituncp)nitu, mA -5 dnfuwlgduwl
agnpédwyhgp, hgnpnepynctl / §4dwnd -10000 UGphwwl wynpuinh thnpuwpdtip, baud * -1200.9600 hupbwqlwg -
pwgwlywjnid £ LSB Jhwynp, Y4dwnd -1102 Fwnpaop Ywnpagh dhwynnp, ydwnd. -1106 UdGUopjw dwdwgnrgh 26nnud
2newlw Jhowdwiph gapdwuwnhéwuncd (20 £2) °C, ng wybh, pwu, J/op - £0,5 Opwlywl dwdwgnygh 26nnud Jhuntu
25 W gntdwpwé 700 °C dwpwhbn wohuwwnwlpwihu gGpdwunhdwuubpnd, hwpwptpwwl funbwynipjniup 30-hg
80%, ng wybh, pwl Y/opn: - £ 3 Uwlwqlbph pwlwyp (uwhdwludwé £ Spwagpwhbu wwwhnydwl ynndhg) - 1-hg 4
SYyjwuGph wudunwlugnipjntup hnuwuph punhwwnnuduGph dcwdwluwy, Lnwphubp, ng wdGih, pwu -3: SYjwjubph
wwhwwuntd hhonnnipjwu JGeg, mnwphutp, wnudwqu-25 Spwgpwjhb wwywhnydwU wyuwunwwunipjntu gwupunnuwd
UnLinnphg - wyn UhghU dwdwluwyp puwthwuncdutph Jdhole, h, ng ywlwu, pwl -140000 Swnw)jnLpjwl dwdybunp,
wnwnphubp, ng Wwlwu-30 Calibration interval, mwph-8 @npénnnLpjwl Gpw2huhpwhU dwdybwnp, tnwnph-3 «duncdutph
dwuhU» &< onptuph 13-pn hnywéh 5-pn YGinh ywwhwugutph hwdwdwju gwuwgwéd hndwl nGwpnid Yhpwnbh Gu
«ywu hwdwndbp» pwnbpp:
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